
$\qquad$
INTERNATIONAL JOURNAL FOR RESEARCH

IN APPLIED SCIENCE \& ENGINEERING TECHNOLOGY
$\qquad$

# ON (k,d) - HERONIAN MEAN GRAPHS 

Akilandeswari. $\mathrm{K}^{1}$, Tamilselvi. $\mathrm{M}^{2}$<br>${ }^{1}$ Research Scholar, ${ }^{2}$ Associate Professor, PG and Research Department of Mathematics, Seethalakshmi Ramaswami College, Tiruchirappalli-620002


#### Abstract

Mean labeling was first introduced by S. Somasundram and R. Ponraj. Heronian mean labeling was introduced by S. S. Sandhya, E. Ebin Raja Merly and S. D. Deepa. We have extended this notion to a labeling called k-Heronian mean labeling. In this paper, we introduce ( $k, d$ )-Heronian mean labeling of some graphs. Here $k$ and $d$ are denoted as any positive integer greater than or equal to 1.


Keywords: (k,d)-Heronian mean labeling, (k,d)-Heronian mean graph, Path, $L_{n} \odot K_{1}, T_{n} \odot K_{1}, \boldsymbol{Q}_{n} \odot K_{1}, T L_{n} \odot K_{1}, H_{n}$, Peterson graph.

2010 Mathematics Subject Classification: 05C78

## I. INTRODUCTION

We begin with simple, finite, connected and undirected graph $G(V, E)$ with $p$ vertices and $q$ edges. For a detailed survey of graph labeling we refer to Gallian [2]. Terms are not defined here are used in the sense of Harary [3]. S. Somasundram and R. Ponraj were introduced mean labeling of graphs in [6] [7]. The concept of Heronian mean labeling was introduced by S.S. Sandhya et.al [4] [5].
We introduced the concept of k-Heronian mean labeling in [1]. In this paper, we introduce and investigate (k, d)-Heronian mean labeling of some graphs. For brevity, we use ( $\mathrm{k}, \mathrm{d}$ )-HML for ( $\mathrm{k}, \mathrm{d}$ )-Heronian mean labeling and k and d are any positive integer greater than or equal to 1 .

## A. Definiton 1.1

A graph $G=(V, E)$ with $p$ vertices and $q$ edges is said to be a $(k, d)$-Heronian Mean graph if it is possible to label the verticesx $\in$ Vwith distinct labels $\mathbf{f}(\mathbf{x})$ from $k, k+d, k+2 d, \ldots, k+q d$ in such a way that when each edge $\mathbf{e}=\mathbf{u v}$ is labeled with, $f^{*}(e)=$ $\left\lfloor\frac{\mathrm{f}(\mathrm{u})+\mathrm{f}(\mathrm{v})+\sqrt{\mathrm{f}(\mathbf{u}) \mathrm{f}(\mathrm{v})}}{3}\right\rfloor$ or $\left\lceil\frac{\mathrm{f}(\mathbf{u})+\mathrm{f}(\mathrm{v})+\sqrt{\mathrm{f}(\mathbf{u}) \mathrm{f}(\mathrm{v})}}{3}\right\rceil$, then the resulting edge labels are distinct. In this case $\mathbf{f}$ is called a (k,d)-Heronian Mean labeling of G.
B. Definition 1.2

If G has order n , the corona of G with $\mathrm{H}, G \odot H$ is the graph obtained by taking one copy of G and n copies of H and joining the i th vertex of $G$ with an edge to every vertex in the i th copy of $H$

## C. Definition 1.3

A triangular snake $\left(\mathrm{T}_{\mathrm{n}}\right)$ is obtained from a path by identifying each edge of the path with an edge of the cycle $C_{3}$.

## D. Definition 1.4

The $H$ - graph of a path $P_{n}$ denoted by $H_{n}$ is the graph obtained from two copies of $P_{n}$ with vertices $v_{1}, v_{2}, \ldots, v_{n}$ and $u_{1}, u_{2}, \ldots, u_{n}$ by joining the vertices $\frac{V_{\frac{n+1}{2}}}{}$ and $u_{\frac{n+1}{2}}$; if $n$ is odd and the vertices $V_{\frac{n}{2}+1}$ and $u_{\frac{n}{2}}$; if $n$ is even.

## E. Definition 1.5

A Triangular Ladder $T\left(L_{n}\right)$ is a graph obtained from $L_{n}$ by adding the edges $u_{i} v_{i+1}, 1 \leq i \leq n-1$, where $1 \leq i \leq n$ are the vertices of $L_{n}$ such that $u_{1} u_{2} u_{3} \ldots u_{n}$ and $v_{1} v_{2} v_{3} \ldots v_{n}$ are two paths of length n in the graph $L_{n}$.
F. Definition 1.6

The ladder graph $L_{n}$, is obtained from the cartesian product of two path graphs.

## II. MAIN RESULTS

## A. Theorem 2.1

Any path $\mathrm{P}_{\mathrm{n}}$ is a $(\mathrm{k}, \mathrm{d})$-Heronian mean graph, for all $\mathrm{n} \geq 2$.
Proof:
Let $V\left(P_{n}\right)=\left\{u_{i} ; 1 \leq i \leq n\right\}$ and $E\left(P_{n}\right)=\left\{e_{i}=\left(u_{i}, u_{i+1}\right) ; 1 \leq i \leq n-1\right\}$ be the vertices and edges of $P_{n}$ respectively.
Define $f: V\left(P_{n}\right) \rightarrow\{k, k+d, k+2 d, \ldots, k+(n-1) d\}$ by
$\mathrm{f}\left(\mathrm{u}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n}$.
Now the induced edge labels are
$\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1$.
Here $\mathrm{p}=\mathrm{n}$ and $\mathrm{q}=\mathrm{n}-1$.
Clearly, $f$ is ( $k, d$ )-Heronian mean labeling of $P_{n}$.
Hence $P_{n}$ is a ( $k, d$ )-Heronian mean graph, for all $n \geq 2$.

1) Example 2.2: $(50,2)$-Heronian mean labeling of $P_{5}$ is given in the figure 2.1:


Figure 2.1: $(50,2)-\mathrm{HML}$ of $P_{5}$

## B. Theorem 2.3

The graph $L_{n} \odot K_{1}$ is a $(k, d)$ - Heronian mean labeling, for all $n \geq 2$.
Proof;
Let $V\left(L_{n} \odot K_{1}\right)=\left\{u_{i}, u_{i}^{\prime}, v_{i}, v_{i}^{\prime} ; 1 \leq i \leq n\right\}$ and

$$
\mathrm{E}\left(\mathrm{~L}_{\mathrm{n}} \odot \mathrm{~K}_{1}\right)=\left\{\mathrm{e}_{\mathrm{i}}=\left(\mathrm{u}_{\mathrm{i}}, \mathrm{u}_{\mathrm{i}}^{\prime}\right), \quad \mathrm{e}_{\mathrm{i}}^{\prime}=\left(\mathrm{u}_{\mathrm{i}}^{\prime}, \mathrm{v}_{\mathrm{i}}^{\prime}\right), \quad \mathrm{e}_{\mathrm{i}}^{\prime \prime}=\left(\mathrm{v}_{\mathrm{i}}, \mathrm{v}_{\mathrm{i}}^{\prime}\right) ; 1 \leq \mathrm{i} \leq \mathrm{n}\right\} \cup
$$

$\left\{\mathrm{e}_{\mathrm{i}}^{\prime \prime \prime}=\left(\mathrm{u}_{\mathrm{i}}^{\prime}, \mathrm{u}_{\mathrm{i}+1}^{\prime}\right), \mathrm{e}_{\mathrm{i}}^{\mathrm{iv}}=\left(\mathrm{v}_{\mathrm{i}}^{\prime}, \mathrm{v}_{\mathrm{i}+1}^{\prime}\right) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1\right\}$ be the vertices and edges of $\mathrm{L}_{\mathrm{n}} \odot \mathrm{K}_{1}$ respectively.
Define $\mathrm{f}: \mathrm{V}\left(\mathrm{L}_{\mathrm{n}} \odot \mathrm{K}_{1}\right) \rightarrow\{\mathrm{k}, \mathrm{k}+\mathrm{d}, \ldots, \mathrm{k}+(5 \mathrm{n}-2) \mathrm{d}\}$ by

$$
\mathrm{f}\left(\mathrm{u}_{1}\right)=\mathrm{k}
$$

$$
\begin{aligned}
& \mathrm{f}\left(\mathrm{u}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-6) ; 2 \leq \mathrm{i} \leq \mathrm{n} \\
& \mathrm{f}\left(\mathrm{u}_{1}^{\prime}\right)=\mathrm{k}+\mathrm{d} \\
& \mathrm{f}\left(\mathrm{u}_{\mathrm{i}}^{\prime}\right)=\mathrm{k}+5 \mathrm{~d}(\mathrm{i}-1) ; 2 \leq \mathrm{i} \leq \mathrm{n} \\
& \mathrm{f}\left(\mathrm{v}_{1}^{\prime}\right)=\mathrm{k}+2 \mathrm{~d} \\
& \mathrm{f}\left(\mathrm{v}_{\mathrm{i}}^{\prime}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-4) ; 2 \leq \mathrm{i} \leq \mathrm{n} \\
& \mathrm{f}\left(\mathrm{v}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-2) ; 1 \leq \mathrm{i} \leq \mathrm{n}
\end{aligned}
$$

Now the induced edge labels are

$$
\begin{gathered}
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}\right)=\mathrm{k}+5 \mathrm{~d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-4) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime \prime}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-3) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime \prime \prime}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-2) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\mathrm{iv}}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1
\end{gathered}
$$

Here $\mathrm{p}=4 \mathrm{n}$ and $\mathrm{q}=5 \mathrm{n}-2$.
Clearly f is a $(\mathrm{k}, \mathrm{d})$ - Hernonian mean labeling.
Hence $L_{n} \odot K_{1}$ is a $(k, d)$-Heronian mean graph for all $n \geq 2$.

1) Example 2.4
(75,2) - Heronian mean labeling of $\square_{7} \odot \square_{1}$ is given in figure 2.2:

International Conference on Mathematical Impacts in Science and Technology(MIST-17), November 2017


Figure 2.2: $(75,2)-\mathrm{HML}$ of $L_{7} \odot K_{1}$

## C. Theorem 2.5

The graph $\mathrm{T}_{\mathrm{n}} \odot \mathrm{K}_{1}$ is a (k,d)- Heronian mean labeling, for all $\mathrm{n} \geq 2$.
Proof;
Let $\mathrm{V}\left(\mathrm{T}_{\mathrm{n}} \odot \mathrm{K}_{1}\right)=\left\{\mathrm{u}_{\mathrm{i}}, \mathrm{v}_{\mathrm{i}} ; 1 \leq \mathrm{i} \leq \mathrm{n}\right\} \cup\left\{\mathrm{w}_{\mathrm{i}}, \mathrm{x}_{\mathrm{i}} ; 1 \leq \mathrm{i} \leq \mathrm{n}-1\right\}$ and

$$
\begin{gathered}
E\left(T_{n} \odot K_{1}\right)=\left\{e_{i}=\left(u_{i}, v_{i}\right), \quad 1 \leq i \leq n\right\} \cup \\
\left\{e_{i}^{\prime}=\left(v_{i}, w_{i}\right), \quad e_{i}^{\prime \prime}=\left(w_{i}, x_{i}\right), e_{i}^{\prime \prime \prime}=\left(v_{i}, v_{i+1}\right), e_{i}^{i v}=\left(w_{i}, x_{i},\right) ; 1 \leq i \leq n-1\right\}
\end{gathered}
$$

be the vertices and edges of $T_{n} \odot K_{1}$ respectively.
Define f: $\mathrm{V}\left(\mathrm{T}_{\mathrm{n}} \odot \mathrm{K}_{1}\right) \rightarrow\{\mathrm{k}, \mathrm{k}+\mathrm{d}, \ldots, \mathrm{k}+(5 \mathrm{n}-4) \mathrm{d}\}$ by

$$
\begin{gathered}
\mathrm{f}\left(\mathrm{u}_{\mathrm{i}}\right)=\mathrm{k}+5 \mathrm{~d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}\left(\mathrm{v}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-4) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}\left(\mathrm{w}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-3) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}\left(\mathrm{x}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-2) ; \quad 1 \leq \mathrm{i} \leq \mathrm{n}-1
\end{gathered}
$$

Now the induced edge labels are

$$
\begin{gathered}
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}\right)=\mathrm{k}+5 \mathrm{~d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-4) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime \prime}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-3) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime \prime \prime}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-2) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(5 \mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1
\end{gathered}
$$

Here $\mathrm{p}=4 \mathrm{n}-2$ and $\mathrm{q}=5 \mathrm{n}-4$.
Clearly f is $\mathrm{a}(\mathrm{k}, \mathrm{d})$ - Hernonian mean labeling.
Hence $\mathrm{T}_{\mathrm{n}} \odot \mathrm{K}_{1}$ is a $(\mathrm{k}, \mathrm{d})$-Heronian mean graph for all $\mathrm{n} \geq 2$.

1) Example 2.6: (150,3)-Heronian mean labeling of $T_{6} \odot K_{1}$ is given in figure 2.3:


Figure 2.3: $(150,3)-\mathrm{HML}$ of $T_{6} \odot K_{1}$

## D. Theorem 2.7

The graph $\mathrm{Q}_{\mathrm{n}} \odot \mathrm{K}_{1}$ is a $(\mathrm{k}, \mathrm{d})$ - Heronian mean labeling, for all $\mathrm{n} \geq 2$.
Proof;
Let $\mathrm{V}\left(\mathrm{Q}_{\mathrm{n}} \odot \mathrm{K}_{1}\right)=\left\{\mathrm{u}_{\mathrm{i}}, \mathrm{v}_{\mathrm{i}} ; 1 \leq \mathrm{i} \leq \mathrm{n}\right\} \cup\left\{\mathrm{w}_{\mathrm{i}}, \mathrm{x}_{\mathrm{i}}, \mathrm{w}_{\mathrm{i}}^{\prime}, \mathrm{x}_{\mathrm{i}}^{\prime} ; 1 \leq \mathrm{i} \leq \mathrm{n}-1\right\} \operatorname{andE}\left(\mathrm{Q}_{\mathrm{n}} \odot \mathrm{K}_{1}\right)=\left\{\mathrm{e}_{\mathrm{i}}=\left(\mathrm{u}_{\mathrm{i}}, \mathrm{v}_{\mathrm{i}}\right), 1 \leq \mathrm{i} \leq \mathrm{n}\right\} \cup$
$\left\{\mathrm{e}_{\mathrm{i}}^{\prime}=\left(\mathrm{v}_{\mathrm{i}}, \mathrm{w}_{\mathrm{i}}\right), \mathrm{e}_{\mathrm{i}}^{\prime \prime}=\left(\mathrm{w}_{\mathrm{i}}, \mathrm{x}_{\mathrm{i}}\right), \mathrm{e}_{\mathrm{i}}^{\prime \prime \prime}=\left(\mathrm{w}_{\mathrm{i}}, \mathrm{w}_{\mathrm{i}}^{\prime}\right), \mathrm{e}_{\mathrm{i}}^{\mathrm{iv}}=\left(\mathrm{w}_{\mathrm{i}}^{\prime}, \mathrm{x}_{\mathrm{i}}^{\prime}\right), \mathrm{e}_{\mathrm{i}}^{\mathrm{v}}=\left(\mathrm{v}_{\mathrm{i}}, \mathrm{v}_{\mathrm{i}+1}\right), \mathrm{e}_{\mathrm{i}}^{\mathrm{vi}}=\left(\mathrm{w}_{\mathrm{i}}^{\prime}, \mathrm{x}_{\mathrm{i}}\right) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1\right\}$ be the vertices and edges of $\mathrm{Q}_{\mathrm{n}} \odot \mathrm{K}_{1}$ respectively.
Define $\mathrm{f}: \mathrm{V}\left(\mathrm{Q}_{\mathrm{n}} \odot \mathrm{K}_{1}\right) \rightarrow\{\mathrm{k}, \mathrm{k}+\mathrm{d}, \ldots, \mathrm{k}+(7 \mathrm{n}-6) \mathrm{d}\}$ by

$$
\begin{gathered}
\mathrm{f}\left(\mathrm{u}_{\mathrm{i}}\right)=\mathrm{k}+7 \mathrm{~d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}\left(\mathrm{v}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(7 \mathrm{i}-6) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}\left(\mathrm{w}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(7 \mathrm{i}-5) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}\left(\mathrm{x}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(7 \mathrm{i}-4) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}\left(\mathrm{w}_{\mathrm{i}}^{\prime}\right)=\mathrm{k}+\mathrm{d}(7 \mathrm{i}-3) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}\left(\mathrm{x}_{\mathrm{i}}^{\prime}\right)=\mathrm{k}+\mathrm{d}(7 \mathrm{i}-2) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1
\end{gathered}
$$

Now the induced edge labels are

$$
\begin{gathered}
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}\right)=\mathrm{k}+7 \mathrm{~d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime}\right)=\mathrm{k}+\mathrm{d}(7 \mathrm{i}-6) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime \prime}\right)=\mathrm{k}+\mathrm{d}(7 \mathrm{i}-5) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime \prime \prime}\right)=\mathrm{k}+\mathrm{d}(7 \mathrm{i}-4) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\mathrm{iv}}\right)=\mathrm{k}+\mathrm{d}(7 \mathrm{i}-3) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\mathrm{v}}\right)=\mathrm{k}+\mathrm{d}(7 \mathrm{i}-2) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\mathrm{vi}}\right)=\mathrm{k}+\mathrm{d}(7 \mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1
\end{gathered}
$$

Here $\mathrm{p}=6 \mathrm{n}-4$ and $\mathrm{q}=7 \mathrm{n}-6$.
Clearly f is a ( $\mathrm{k}, \mathrm{d}$ )- Hernonian mean labeling.
Hence $Q_{n} \odot K_{l}$ is a ( $\mathrm{k}, \mathrm{d}$ )-Heronian mean graph for all $n \geq 2$.

1) Example 2.8: (200,6)-Heronian mean labeling of $Q_{4} \odot K_{1}$ is given in figure 2.4:


Figure 2.4: $(200,6)$ - HML of $Q_{\Delta} \odot K_{1}$

## E. Theorem 2.9

The Total graph $\mathrm{TL}_{\mathrm{n}} \odot \mathrm{K}_{1}$ is a $(\mathrm{k}, \mathrm{d})$ - Heronian mean labeling, for all $\mathrm{n} \geq 2$.
Proof:
Let $\mathrm{V}\left(\mathrm{TL}_{\mathrm{n}} \odot \mathrm{K}_{1}\right)=\left\{\mathrm{u}_{\mathrm{i}}, \mathrm{v}_{\mathrm{i}}, \mathrm{w}_{\mathrm{i}}, \mathrm{x}_{\mathrm{i}} ; 1 \leq \mathrm{i} \leq \mathrm{n}\right\}$ and

$$
\begin{gathered}
E\left(T L_{n} \odot K_{1}\right)=\left\{e_{i}=\left(u_{i}, v_{i}\right), e_{i}^{\prime}=\left(v_{i}, w_{i}\right), \quad e_{i}^{\prime \prime}=\left(w_{i}, x_{i}\right) ; 1 \leq i \leq n\right\} \cup \\
\left\{e_{i}^{\prime \prime \prime}=\left(v_{i}, v_{i+1}\right), e_{i}^{i v}=\left(v_{i}, w_{i+1}\right), e_{i}^{v}=\left(w_{i}, w_{i+1}\right) ; 1 \leq i \leq n-1\right\}
\end{gathered}
$$

be the vertices and edges of $\mathrm{TL}_{\mathrm{n}} \odot \mathrm{K}_{1}$ respectively.
Define $f: V\left(T L_{n} \odot K_{1}\right) \rightarrow\{k, k+d, \ldots, k+(6 n-3) d\}$ by

$$
\begin{gathered}
\mathrm{f}\left(\mathrm{u}_{\mathrm{i}}\right)=\mathrm{k}+6 \mathrm{~d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}\left(\mathrm{v}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(6 \mathrm{i}-5) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}\left(\mathrm{w}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(6 \mathrm{i}-4) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}\left(\mathrm{x}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(6 \mathrm{i}-3) ; 1 \leq \mathrm{i} \leq \mathrm{n}
\end{gathered}
$$

Now the induced edge labels are

$$
\begin{gathered}
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}\right)=\mathrm{k}+6 \mathrm{~d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime}\right)=\mathrm{k}+\mathrm{d}(6 \mathrm{i}-5) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime \prime}\right)=\mathrm{k}+\mathrm{d}(6 \mathrm{i}-4) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime \prime \prime}\right)=\mathrm{k}+\mathrm{d}(6 \mathrm{i}-3) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\mathrm{iv}}\right)=\mathrm{k}+\mathrm{d}(6 \mathrm{i}-2) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\mathrm{V}}\right)=\mathrm{k}+\mathrm{d}(6 \mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1
\end{gathered}
$$

Here $\mathrm{p}=4 \mathrm{n}$ and $\mathrm{q}=6 \mathrm{n}-3$.
Clearly f is a ( $\mathrm{k}, \mathrm{d}$ )- Hernonian mean labeling.
Hence $\mathrm{TL}_{\mathrm{n}} \odot \mathrm{K}_{1}$ is a $(\mathrm{k}, \mathrm{d})$-Heronian mean graph for all $\mathrm{n} \geq 2$.

1) Example 2.10
(185,7)-Heronian mean labeling of $T L_{7} \odot K_{I}$ is given in figure 2.5:


Figure 2.5: $(185,7)-\mathrm{HML}$ of $T L_{7} \odot K_{1}$

## F. Theorem 2.11

The graph $H_{n}$ is a $(k, d)$-Heronian mean graph for all $n \geq 2$.
Proof:
Let $\mathrm{V}\left(\mathrm{H}_{\mathrm{n}}\right)=\left\{\mathrm{u}_{\mathrm{i}}, \mathrm{v}_{\mathrm{i}} ; 1 \leq \mathrm{i} \leq \mathrm{n}\right\}$ and

$$
E\left(H_{n}\right)=\left\{e_{i}=\left(u_{i}, u_{i+1}\right), e_{i}^{\prime}=\left(v_{i}, v_{i+1}\right) ; 1 \leq i \leq n-1\right\} \cup\{e\}
$$

be the vertices and edges of $H_{n}$ respectively.
Define $\mathrm{f}: \mathrm{V}\left(\mathrm{H}_{\mathrm{n}}\right) \rightarrow\{\mathrm{k}, \mathrm{k}+\mathrm{d}, \ldots, \mathrm{k}+(2 \mathrm{n}-1) \mathrm{d}\}$ by

$$
\begin{gathered}
\mathrm{f}\left(\mathrm{u}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n} \\
\mathrm{f}\left(\mathrm{v}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(\mathrm{n}+\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n}
\end{gathered}
$$

Now the induced edge labels are

$$
\begin{gathered}
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime}\right)=\mathrm{k}+\mathrm{d}(\mathrm{n}+\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq \mathrm{n}-1 \\
\mathrm{f}^{*}(\mathrm{e})=\mathrm{k}+\mathrm{d}(\mathrm{n}-1)
\end{gathered}
$$

Here $\mathrm{p}=2 \mathrm{n}$ and $\mathrm{q}=2 \mathrm{n}-1$.

Clearly f is $\mathrm{a}(\mathrm{k}, \mathrm{d})$ - Hernonian mean labeling.
Hence $\mathrm{H}_{\mathrm{n}}$ is a $(\mathrm{k}, \mathrm{d})$-Heronian mean graph for all $\mathrm{n} \geq 2$.

1) Example 2.12: $(125,8)$-Heronian mean labeling of $\mathrm{H}_{6}$ is given in figure 2.6:


Figure 2.6: $(125,8)$-HML of $\mathrm{H}_{6}$
G. Theorem 2.13

The Peterson graph is a ( $\mathrm{k}, \mathrm{d}$ )-Heronian mean graph.
Proof:
Let G be Peterson Graph.
Let $\mathrm{V}(\mathrm{G})=\left\{\mathrm{u}_{\mathrm{i}}, \mathrm{v}_{\mathrm{i}} ; 1 \leq \mathrm{i} \leq 5\right\} \operatorname{andE}(\mathrm{G})=\left\{\mathrm{e}_{1}=\left(\mathrm{u}_{1}, \mathrm{u}_{3}\right), \mathrm{e}_{2}=\left(\mathrm{u}_{3}, \mathrm{u}_{5}\right), \mathrm{e}_{3}=\left(\mathrm{u}_{5}, \mathrm{u}_{2}\right), \mathrm{e}_{4}=\left(\mathrm{u}_{2}, \mathrm{u}_{4}\right)\right\} \cup\left\{\mathrm{e}_{5}=\left(\mathrm{u}_{4}, \mathrm{u}_{1}\right)\right\} \cup\left\{\mathrm{e}_{\mathrm{i}}^{\prime}=\right.$ $\left.\left(\mathrm{v}_{\mathrm{i}}, \mathrm{v}_{\mathrm{i}+1}\right) ; 1 \leq \mathrm{i} \leq 4\right\} \cup\left\{\mathrm{e}_{5}^{\prime}=\left(\mathrm{v}_{1}, \mathrm{v}_{5}\right)\right\} \cup\left\{\mathrm{e}_{\mathrm{i}}^{\prime \prime}=\left(\mathrm{v}_{\mathrm{i}}, \mathrm{u}_{\mathrm{i}}\right) ; 1 \leq \mathrm{i} \leq 5\right\}$ be the vertices and edges of G .
Define $\mathrm{f}: \mathrm{V}(\mathrm{G}) \rightarrow\{\mathrm{k}, \mathrm{k}+\mathrm{d}, \ldots, \mathrm{k}+15 \mathrm{~d}\}$

$$
\begin{aligned}
\mathrm{f}\left(\mathrm{u}_{\mathrm{i}}\right)= & \mathrm{k}+\mathrm{d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq 4 \\
& \mathrm{f}\left(\mathrm{u}_{5}\right)=\mathrm{k}+5 \mathrm{~d} \\
\mathrm{f}\left(\mathrm{v}_{\mathrm{i}}\right)= & \mathrm{k}+\mathrm{d}(\mathrm{i}+9) ; 1 \leq \mathrm{i} \leq 5
\end{aligned}
$$

Now the induced edge labels are

$$
\begin{gathered}
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}\right)=\mathrm{k}+\mathrm{d}(\mathrm{i}-1) ; 1 \leq \mathrm{i} \leq 5 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime}\right)=\mathrm{k}+\mathrm{d}(\mathrm{i}+9) ; 1 \leq \mathrm{i} \leq 2 \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime}\right)=\mathrm{k}+\mathrm{d}(\mathrm{i}+10) ; 3 \leq \mathrm{i} \leq 4 \\
\mathrm{f}^{*}\left(\mathrm{e}_{5}^{\prime}\right)=\mathrm{k}+12 \mathrm{~d} \\
\mathrm{f}^{*}\left(\mathrm{e}_{\mathrm{i}}^{\prime \prime}\right)=\mathrm{k}+\mathrm{d}(\mathrm{i}+4) ; 1 \leq \mathrm{i} \leq 5
\end{gathered}
$$

Here $\mathrm{p}=2 \mathrm{n}$ and $\mathrm{q}=2 \mathrm{n}-1$.
Clearly f is a ( $\mathrm{k}, \mathrm{d}$ )- Hernonian mean labeling.
Hence $\mathrm{H}_{\mathrm{n}}$ is a $(\mathrm{k}, \mathrm{d})$-Heronian mean graph for all $\mathrm{n} \geq 2$.

1) Example 2.14
(10,9)-Heronian mean labeling of Peterson Graph.


Figure 2.7: (k,d)-HML of Peterson Graph

## REFERENCES

[1] Akilandeswari. K and Tamilselvi. M, "On k-Heronian Mean Labeling, International Journal of Innovative Research in Science, Engineering and Technology, Vol. 6, Issue 9, September 2017, 18019-18023.
[2] J.A. Gallian, "A dynamic survey of graph labeling", Electronic Journal of Combinatorics, 18 (2016) \# DS6
[3] F. Harary, Graph Theory, Addison Wesley, Massachusetts (1972).
[4] S.S.Sandhya, E.Ebin Raja Merly and S.D.Deepa, "Heronian Mean Labeling of Graphs", Communicated to International Journal of Mathematical Form.
[5] S.S.Sandhya, E.Ebin Raja Merly and S.D.Deepa, "Some Results on Heronian Mean Labeling of Graphs", communicated to Journal of Discrete Mathematical Sciences and Cryptography.
[6] S. Somasundaram and R. Ponraj, Mean labeling of graphs, National Academy Science Letter, 26 (2003), 210-213.
[7] S.Somasundaram, R.Ponraj and S.S.Sandhya, "Harmonic Mean Labeling of Graphs", communicated to Journal of Combinatorial Mathematics and Combinatorial Computing.

do
cross ${ }^{\text {ref }}$
10.22214/IJRASET


IMPACT FACTOR: 7.129

TOGETHER WE REACH THE GOAL.

IMPACT FACTOR:
7.429

## INTERNATIONAL JOURNAL FOR RESEARCH

IN APPLIED SCIENCE \& ENGINEERING TECHNOLOGY
Call : 08813907089 @ (24*7 Support on Whatsapp)

